188<118308 () >U-TJ% (153/\—=2)
*ABT Oy DDPT ~6RQIEREREZTNES

SNHIRR IR D R —ILE (AD—F)

188<118308 (L) >U-=0% (153/\=2)
XCDT Oy I DB T ~6MIDIBITREZE(TLET

SINHIRRFILY D FR—)LiB (B3—H)

A-1 A-2 A-3
7997 |sirc U-12| fervoremsm | bimrc | | B| x| Ra| e
A-1 @)
BIFC U-12 10970 13ac27092/ 815151012
A-2 O O
fervore=fd 3[;:?]1 3[?:8]0 616131
A-3 X
eerc (2097234000723 0127|733
slmRERMY D FiR—)Uig (AD— )
B—1 B—2 B-3 -
I8 | gamesmrc | mEsc | AFC pry— | PR ER| A g mo
B-1 O
PRIBEIMFC aCg a6t 0y 010 2 8
B-2 X @)
masc (101”204 527030 3|00 T2
B-3 X
AFCD{*J”—1[?:‘21]61[?:§]5 0 2)111-9]3
No. | FEUB8FRE XU el
1 1000 (a1 | B|IFC U-12 [ 1 — 3 [a2 fervoreE2fd L%
21 1040 |B-1 FEIZEEFC 4 — 1 |B2 HEISC K%
3| 1120 [a1]| =WIFC U-12 |4 — 2 |A3 LBFC =57
4 12:00 |B-1 PFRIZEEFC 6 — 1|83 AFC O+ - =B
5] 1240 |a2 fervore=fd 3 — 0 |as EBEFC ==
6| 1320 [e2 #HHSC 5 — 1 [es| AFChHaT— | ux
@] 1400 |B1| PBIFEEFC 1 —0 fervore = Wiy
@ | 1440 $HISC 2 — 1 IIFC U-12 H3Z
@] 1520 AFC D1 t— 2 — 1 EBEFC =B

KIRLDREHDIE, B-1F— AOBIRRIEZETTL .

@. QIIE >EHHOBIRMINSTT D,

C-1 C-2 Cc-3 -

criayy TS EhErC FOns m | B | | X [ aw
C-1 X X
BT =P 0[8:1350[8:2350 0|10|##| 3
c-2 O O

znerc 5017070 209703 BT T O
c-3 O X

Fons  |5C220301 02292 316]2]4|°2

B)BIRRZMY D FIR—)UB (BD—1H)
D-1 D-2 D-3 /E

DIAYY EEIFC FESCY 1 =P FCERS m | B | xm | X [ mw
D-1 X O

EHFC B L AG S S RIS N I
D-2 O @)
mEscya=7|2 (1 20710 3 703 BT
D-3 X X

Fomm (10 712203 01211083
No. | BBIGESRS X8 =
1 10:00 [c-1 FINYaZP O — 5 |c2 ENEFC HEZ
2| 1040 |p-+1 EHIRFC O — 2 |o2| FESCYa2P 4%
3| 1120 |c+ SwINYazZrP O — 5 |cs FCh& L%
41 1200 |p-+1 EIBFC 7 — 1 |bo-3 FCEMN B4
5| 12140 |c2 ENEFC 2 — 1 |cs FCh& B4
6| 1320 |o2| FRWSCYa2=P |3 — 1 |p3 FCER HEZ
@[ 1400 [p-t BUBFC 3 — 4 FCh& H5Z
@] 1440 HESCYa=7?” [0 — 4 ENEFC EE1
@ 1520 =INYa=rP 4 — 2 FCEMN L%

KIRLDREHDIE. D-1F—LDBIBLIEZET. @ QIHE > EXIHDSIELINSTTD.




188<118308 () >U-TJ% (153/\—=2)
*EFJ0 v DB T ~6RIDIBITREETNET

32| IBIRRFLBBAE (CO—F) mRIT /LA

1BE<118308 (1) >U-=U% (150/\=2)
HGHT O D DD T ~6MIDIEIREEITVES

S IBIRRFEBNLE (D3—H) BRI —)UAl

E-1 E-2 E-3 o
Tul " P = -
287 rovasl SEFC | o ko — | B[R R e |
E-1 (@) (@)
uE 3—0 3—1 6 [13] 1 [12] 1
novaji) || 5[2_0]08[5_0]1
E-2 X X
= 0—3 1—5 O] 1 |13|##] 3
ZEBFC 0[0_2]5 1[0_3]8
E-3 X O
_ —3 5—1 39902
RO A ~2A 1[0_5]88[3_0]1
mIREFMBALE (CO—F~) mMET—I/LE]
F-1 F-2 F-3 o
Tmly " p < W
F78%7 | PorcedolFS |  FCaiigm momsc | U] | e |5
F-1 O O
0—1 0—0 631 2] 1
PorcedolF.S 2[2_0]11[1_0]0
F-2 X 9)
o 1—0 2—0 3|5|2|8]2
Feaimgs |10, _, 12 405 _,30
F-3 X x
= 0—0 0—2 00| 5]|-5]3
127 fBSC 0[0_1110[0_2]4
No. | BRISESRE X =
1 10:00 |e- novaiz) | 5 — 0O |e2 =EHFC H5Z
2| 1040 |F1 PorcedolF.S 2 — 1 |F2 FCaItER Wy
3| 11:20 [e novassz) | 8 — 1 |es| MO EFRI— H5%
41 12:00 |[F1 PorcedolF.S 1 — O |Fs e @SC E=H7
5 1240 [e2 =HAHFC 1 — 8 |es RO A R RY— HZ
6| 1320 |r2 FCaiitBR 4 — O |Fs 124 BSC H5Z
@D 1400 [F PorcedolF.S O — 3 novas$z || =5
@ | 1440 FCrRItER 4 — A1 KD A R RY— H5%
@ 1520 e SC 6 — 0O =MAFC =

KIERBREHDIE, F-1F—LADBIRLIEZET. @ QEIE >ETHDOSIELINSTTD.

G- G2 G-3 -
G7ovYy @SS WRIFC sy 4 —p | BR| B %R BZ |
G-1 X O
=M@SSS 00372331 097000[ 3| 1| 3|77 2
G2 @) O
wrrc (3027070 6037010/ %1% %]"
G-3 X X
pzgva=7 (0 (379310032306 010773
IIMIRRFMBAHNLE (DI—k) mRT—IUA
H-1 H-2 H-3 ,
7By FCEBAD FoTiE | mmusc | ™| B[R] AE |
H-1 O O
FCHB70 4[?:8]13[8:8]06 T8
H-2 X X
FC 1B 1[82?]4\0[822]4 O11|8|-7]3
H-3 X O
BHISC 0[8:8]34[3_810\3 4l3|1]2
No. | BBIGESRS X85 =¥
1] 1000 |o ZMSSS 0 — 3 ez RIFC 53
> 1040 | FCIB70 4 — 1 2| FCTIEE | um
3] 1120 [ ZMSSS 1 — Oles| dzgyazr | um
4| 1200 | O30 3 — 0 |e HEJSC g
5| 1240 [o2 EIFC 6 — 0las| PzgYa=P | s
6| 1320 [v2| FCRIEE [0 — 4 |4s HEJISC %y
@ 1400 w1 FCIB70 3 -0 RIFC Wy
@| 1440 BEJSC 4 — 0 SMBSSS 8y
@| 1520 FCTIIEE | 7 — O PTERIIZP | L

KIRRBREHDIE, H-1 F—ADRIEMIEZETV, @, QX > IETHDBIRMIN ST,




